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1

A SM H:')

(@) 777 12 P Tuta&rwer ] v
! Gl S (10 |2 m xﬂbl/\f-l'é}.m X 4w
I//"/L/,\f{/:.;; PMJ " )f.-. ']2v/u+~réw—zf%wmm})
GBI sW) = ) oo (ZIE) S Rs(0) = ,._,_EM(Q_@[:{(_{;)
Ss(‘F) 2;:[ SMH Tt Smheﬂcn)] S
- lomshe Pzt Pv= 4w (mW)
I_‘.l i_l__[— 1T ‘Wm
Y
0) SJ(“D (M) Ss{'D ‘5\&";'*6"5"1 e ()
H('D’ L .‘_-) L d__“[’:zéi(- )
S 10 et
I S W
Dl g 75) LF’ =150 (P] = e G -fotSe 4+7cs))i
L opFS se(F-A)] o
o "ggl'}) 0.5 ™
— VT osbmiie B _
o ~wW f‘o paw W ‘ /7 o
Wil J GhH£T, ) H-*(ﬂ] 59(7“)9 i) K@W(f)} S.MF)
Sz (F)= LPF {I QTP S5t ] LPF{JQHn‘ulfﬁ,(ss(%)j_
o H 2(f)= mi) > sd)= 5‘37[) .
For_[#]£03WD syif)= 12 = Sif), S(ff) = 3 e
)= 0.2 = iz-vxlal%))znnqws N
Gz (300> g2 for fh|cosw
| RrsdeflEW o aulf) =GPz 47Me, SOF)= 1mhe
I I HEf)= 1 2 4= 2xlgdR)% | x |
G0 (F 2 ahF fr oseslfhjey
1 Gl = B, H'ﬁl‘ow‘/
I O s A e N L A
0, elewhere




w) 1oF gs({ﬂ] iLPrfo‘(H")j_ _ /~s§w )
- Swl-'F)—*—-w- ] e
2 ) iLm%dE -
. ‘_-_}hn»%e S2(t) o =% '\P‘ Jf‘c '.c*“"“'a ‘Fa*‘*" ﬂ 'Fd“" f
- P Wz, 1H£o_§xJ
.__;7 - l_' :F%hw/gi__._ggi)_._. 59 "‘”Vyﬁg e ’.H
S TN

L Sutt) = S+ {1 ek, RuQF TouiP): [Fsuth eV 7 dT

RO [0 elsewhere. l g[{)ejﬁjfdf_f F /- eprz: h{f

. /'\ s = |+ 2R sin(zhT) _ (£%)

Zo Al 5520 [E%)

_T' »F _F >ft O_Z’F_q:“*’f_f

&)

AS f-}m )‘?M(T) !i So th C= T n: Ihﬂ#@r PN(T) "/

| There vihon the sampling. yafe is af 2 th Sompled_<ignals

J

q1e vngorelated .

(O]

Ry () = EL A (T M{BT= EL Milfto) - (M[/]L)&W[z?(fi'-{'@} N;WSm{ﬁf}ﬁ@l

+ |

= L M ROM ) TE (22, 14 B)]- EfMBFO A ] ELsin(2244+ @) ]

= Rui (1) 0-EBilc)- 0= 0

s UE) = M) Coo(2Rfel + 6) -1t F) Sin(77elFt )

= 5N )5 weGALE+8)- g sin (74 f+0) |

= o (F) [ oo F poo(27Fl10) - SinZF Sin(27ft+6)]

= (SN () e 2TEA + 4 +0)

B ()= JEL Vs (412) Aol )] = 20 LN OHONG VB [ (ot R (it} 540)-

= 28u(t): £Lm(2AfeT) = By (0w (21f, 7). el

| Sl ;; F3Rue(03 = F{ Ru (1) oo (D) |

+ Su, (- vfa)ir 3‘: Sn, (F+7c)

[ ,—,shc e

" I_"—l?'r

T




— N S S —

i

)= Au)@m)fj;m) L) dg - j* (0 dt

. Thus Alf)= )Y D= k=T 1h)
O ¢[seuiher@ >

| T
DY 30"\ ma‘a {:J”J it L"a 9%614’ @,Dn IWZMU\Q i ,J SUU GI’UU

thon Y16)= AW® st)= A= Jiy S0 dz = M) -ulhT)
i) i) uld-T)

79,41) E LX) X =0)]= EL A G (3d+6) At ) e TR0t 8)]
= ECODAt E (Llon: H0) ol zﬁrl?f 0)40)]

= Ralt) 3 oo (AfT

Said & Salf40) + Sa(f+)]

Fiom @U %UL) g Ai’cT = \J(H:) TSmc T-Uﬁﬁftﬂ >)

0 cslsewnrd

(C)

S

thon StUH)=[HID)"SlF) = g psinc (TH[Salf- 1)t o141 )]

ph=A, 0=0 and e pdf o A is N(0,64)
X(f) = /mn (21fc )
W A awde w[ﬁ AredT = L [sin(ich)- {
ﬁJf t %k Td‘{c)~—£1'r[5m(37[£/\lﬂ) $inofs T o )
’g'”(zlfc k)= Sin (AL | fK'T))J/J«(f A Constind .
JV}”’/"‘ TW‘) A4 =2 My = ELTUe)]s ELAAT= g =D
Gwhs) EL ()] ~[ECTte] )= £ [=AT] - (EXAT)
o= KEA) - of(u}m]) OPEP EA')- | J-EAY'Y
- in(a1fe A )= Sin(AFe (AT
- L6y = (sn(mf Wri z ( )) 68
Frm (€, ()= B Lsinafek)-sin (AT
I 7ch-= T, whe NS an ntey, thon
sin (2t ) - sin(2Af (4 -T))f' 0, th Yit)=0, mw

5 55 fon ofe ARRLSOLAITS i of §

Thas Gﬂﬂ ol {;(’)6}5 N q time vy ﬁnhc{nm, whith  ymeans
1‘71@ pdf )[ YU) is q;o o 4ine ‘:‘J‘(ﬁ’? Furctron, 'HM; WP)
s mf 4 wa.s. mdom 1uyiable |




Sine. XU s o Gaussign Pncesc e have 1o Bind Ha men

ond varion. of X(f=3) iﬂfﬂf tha Pdf\ 4s:

! - (XU ™
Ha) = A € S

U XW) s zevo-mean 2 Mx= E[X(t=3)]= O

To Fird Jm’;:;; = Var[X(t=3)] = ELX(H=3"] -(€Lx=3)7)°

= FLx(it= 3>><(T=3)1 = Rx(T=0)

© Sk (‘F) £ vect ( o0 )

R(C=0) = [ S e W [y = Lo ST
= & }"hb | 017D _C'”Dﬁo

[ 1)

2 -
. Ox= %oo0 > .

= e

(=D
L | 7

T == - To 000
Thon  Fgges 71 W il AN TS 8




